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fü

r
u

n
g

e
p

a
a

rt
e

S
ti

c
h

p
ro

b
e

n
)

M
a

tt
h

ia
s

B
ir

k
n

e
r

h
t
t
p
:
/
/
w
w
w
.
m
a
t
h
e
m
a
t
i
k
.
u
n
i
-
m
a
i
n
z
.
d
e
/
~
b
i
r
k
n
e
r
/
B
i
o
s
t
a
t
i
s
t
i
k
1
0
1
1
/

1
7

.1
2

.2
0

1
0

1
/3

1

1
W

ie
d

e
rh

o
lu

n
g

:
E

in
-S

ti
c
h

p
ro

b
e

n
-t

-T
e

s
t

2
t-

T
e

s
t

fü
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fü

r
u
n
g
e
p
a
a
rt

e
S

ti
c
h
p
ro

b
e
n

B
e
is

p
ie

l:
B

a
c
k
e
n
z
ä
h
n
e

vo
n

H
ip

p
a
ri

o
n
s

Z
u
o
rd

n
u
n
g

D
ie

Z
ä
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ä

n
g

e

w
a

r
s
ig

n
ifi

k
a

n
t

g
rö
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fü

r
u
n
g
e
p
a
a
rt

e
S

ti
c
h
p
ro

b
e
n

B
e
ri

c
h
t:

t-
T
e
s
t
o
h
n
e

A
n
n
a
h
m

e
g
le

ic
h
e
r

V
a
ri

a
n
z

F
o

rm
u

lie
ru

n
g

:

”D
ie

m
it
tl
e

re
m

e
s
io

d
is

ta
le

L
ä
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